1 Sketch the region defined by each inequality.
@ X*+y'=16 (b) x’+y'<4 © (x=17'+y'>9 CQAJ/\L('/O)
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2 Which diagram shows the region satisfying y <1 —x" and y >|x|- 1?
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3 Sketch the region defined by each inequality.
(d) y=|x| () y<2x+4
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3 Sketch the region defined by each inequality.

@ (x+3) +y' <1 (b) y<x'+1 () y=29-x
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4 Sketch the region defined by the given inequalities.

@ x'+y’'<1,x20,y20 b) (x=1Y+(-1 <1,x>0,y>0
@ y>x-2,y>3 (h) y<1-x,y20
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5 Which graph represents the region defined by (x - 3)* + (y + 4)* < 25? M(\Q (3/
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7 For the shaded region in the diagram, state whether each statement is correct or incorrect.
| The shaded region is defined by y <|x|and " + y* < 4.

The shaded region is the part of the interior of the circle of centre (0,0) and -22)
radius 2 that is below the lines given by y =|x|.
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The shaded region is defined by y >|x|and x* + y* < 4.

2\ o
The shaded region is the part of the circle with centre (0,0) and radius 2, \-

and its interior, that is on or below the lines given by y =|x|.
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